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The RE 12 XO ig a lorced air
cooled, ceramiz‘matal  power
tetrade for fraguencies up o
800 MHz, with coaxial arrangea-
ment of aelactroge terminals and
with pyralytic graphlte grids.

The maximum anode dissication
rating is 12 kKW,

The RE 12 X0 1= pnmarily intan:
ded for use n TV transmitters:




RE 12 XO

HEATING DATA

Filamant voltage

Filament current”’ Lo
Tube heating time (minimum)”"
Cathede

For actual heating data of every individual tube see its passport

11 The mivalng curtesl eptimdalied for o new tube must se et within =3 5 % dunng the sarace e nours
2 P misute max 12V and max Mpoe 250 A plus §omincte af tul B
37 When the tubo is pro-heated porepnantly weh Ve 085 ther e 0 W oy b agpied snstantanogusly and the & coducid o 30 seconds

MAXIMUM RATINGS

Anode voltage

Soreen grid voltage
Control gnid voltage . .
Calthode peak current
Anode dissipation . |
Screen grid dissipation
Control grid dissipation |
Opearaling frequency

GENERAL DATA

Electrical
Inlerelecirode capacitances

Transconductance
fatWVoa=2kV, Wiz =600V, ls=34)

Amplification factar
{Et Va - 2 H"l"l. |E = E .IE'| I'H'Ige = BED I'l"I]

Emission current
fat Vo= V=V, =500V

Mechanical
Mounting position

Weight

Cooling

Inlet air temperature © . 00 0 0L 0 0L L,

Air flow at maximum ratings
Fressuredrop , . . . . . . . .
Maximum temperature of anode |

of any other part .
For ether imitations see the General part.
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CONSTANT CURRENT CHARACTERISTICS
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